
0 10 20
0

10

20

E
-A

E
R

I 
(0

P
A

L
)

N = 300

R = 1.00

m = 0.97

0 10 20
0

10

20
N = 475

R = 1.00

m = 1.01

0 10 20
0

10

20
N = 1685

R = 0.98

m = 1.05

0 10 20
0

10

20

P
-A

E
R

I N = 46,054

R = 0.99

m = 1.09

0 10 20
0

10

20
N = 108

R = 1.00

m = 0.93

0 10 20
0

10

20
N = 639

R = 1.00

m = 0.97

0 10 20
0

10

20
N = 7248

R = 0.99

m = 1.02

0 10 20
0

10

20

M
W

R

N = 46,054

R = 0.99

m = 0.91

0 10 20
0

10

20
N = 693

R = 0.92

m = 0.86

0 10 20
0

10

20
N = 2527

R = 0.98

m = 0.90

0 10 20
0

10

20
N = 20,394

R = 0.98

m = 0.98

0 10 20
0

10

20

G
R

U
A

N

N = 300

R = 1.00

m = 1.02

0 10 20
0

10

20 N = 108

R = 1.00

m = 1.07

0 10 20
0

10

20
N = 693

R = 0.92

m = 0.99

0 10 20
0

10

20
N = 2371

R = 1.00

m = 1.03

0 10 20
0

10

20
N = 264

R = 0.99

m = 1.05

0 10 20
0

10

20

R
S

N = 475

R = 1.00

m = 0.99

0 10 20
0

10

20
N = 639

R = 1.00

m = 1.02

0 10 20
0

10

20 N = 2527

R = 0.98

m = 1.07

0 10 20
0

10

20
N = 2371

R = 1.00

m = 0.97

0 10 20

SPM (0PAL)

0

10

20
N = 692

R = 0.99

m = 1.05

0 10 20

E-AERI (0PAL)

0

10

20

S
P

M
 (

0
P

A
L

)

N = 1685

R = 0.98

m = 0.92

0 10 20

P-AERI

0

10

20
N = 7248

R = 0.99

m = 0.96

0 10 20

MWR

0

10

20
N = 20,396

R = 0.98

m = 0.98

0 10 20

GRUAN

0

10

20
N = 264

R = 0.99

m = 0.93

0 10 20

RS

0

10

20
N = 692

R = 0.99

m = 0.93

Slope = 1

Best fit

Data


